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ﬁﬁi‘c‘ﬁﬁﬁﬂ Note: (i) This question paper consists

questions in all.
(i)  All questions are compulsory.

of nine

ions in this question
< qoifs : 70 5 There are five sections in this questior
Ty ; A w15 e L (1) paper : Section-A. Section-B. Section-C.
- , Section-D. Section-E.
339 — I & 15 ﬁ.'qztiﬂaﬁii‘iil EOREERE! (v) Section-A is objective type and each
et % forg fuifta & | question is of mark L.

(v) “SectionBis very short answer type and

ion : First 153 mi e allotted for the -0
Instruction : First 15 minutes ar e st mark I

candidates 1o read the questlmn pAREE (vi) Section-C is short answer type and each

A () FTIEAEAFANTAL is of mark 2.
(i) wf e afrEd € (vii) Section-D is short answer type and each
(i) WETE A pE U W T - @ue-a, i) gﬂfmafé} g -
e gy = S vill) dection-£ 15 long answer type each o
-, WS-, 3. i mark 5. Internal choice is given in ull
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(iv) t;us—‘aa' ﬁgﬁw 2 am TS% 9w 1 four questions of this section. Onlv one
IFEHIE quest?on is to be attempted among
V) WUE-'E i oY St 2 A T N 1 questions of given choice.
— (i)  The symbols used in the question paper
. have usual meaning.
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SECTION-A

1. A Tepd v & o 2 1
(i) =&t iy ez fte
(iif) dlez x Hie (iv) =g/ FeAH

(@) T 24 A ARRY A P T gearg e
3 =y i wrer o & | el @ ol S e
et sy Freferfiaa g 2 - 1
16

(i) gaﬂﬂ (ii) ?aﬂn
(iif) 12 37 (iv) 24 30m

(1) wF Werad! afwe # R = 100 3HH, X =200
I qar X, = 200 37w Aofen °§ g B |
ARG Fleedr auT JaTfed U H AR E 1 1
@ 0° (i) 30°
(iii) 45° (iv) 90°

() A Yo vy o 7T Frfres it B g, A 1
(i) tanaxsinf=1
(if) cot o xsinP =1
(111) tan o x cos B=1
(1v) cot ot x cos B = |
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1. (a) The unitof Electric flux is
(i) Weber (i) Volt/ metre
Malt x metre  (iv) Newton/ Coulomb

(b) A wire of 24 ohm resistance is bent in the
form of an equilateral triangle. The effective
resistance between any two comers is

following |
.9 .. 16

() 5 ohm (ii) 3 ohm

(111) 12 ohm (iv) 24 ohm
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i wvs-Y
(= 200 R
«© In an aliemating circuit R = 100 le.hm. 7‘.\1 | -1 . SECTION-B
hm and X, — 200-ehm are N SCries -
v “ L 3 e ard current [
W Jifference hetween voltage anc 3 . I AL 1
.l.m'tN o 1 (&) 3add lil.Hi?ﬁd‘fﬂ‘”‘*‘“ SR
® )
1 e iy 30° - fagal a1l A st e
(iy 0 (1) . mﬁ .&_—' 3nu(| 30 ol 2l Mo ,
. o E -”l-'JEE
(i) 457 (iv) 90 (@) -
ey feIfY |
olarising angle is o and critical angle is B. — { qersisu |
(d) If polarising ang e -1 . e 1 3 T,
then (1) weRTgIaE«d F
. 4 = . = _,l:l
tancaxsinf =1 @) 3 Hlﬂﬁwma _

(ii) cotoxsinf = 1
(iii) tan o x cos p = 1

(iv) cota xcos B =1

() %ﬁﬁnmaﬁqﬁﬂmm |

qisTiv HIRRT |

(¢) Which of the following particle moving with A
i A1 TR

same velocity has maximum de Broglie
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wavelength 7 1 2. (a) Define sccond focus of a concave lens.
y—Electron (i) Proton (b) Write the relationship between the average
(iif) Neutron (iv) Alpha-particle life and half-life of a radioactive substance.
[ (c) Explain the meaning of photoclectric work
(f) In the experiment of photoelectric effect, the function
slope of the graph drawn between the ‘
frequency (v) q ,the. incident light and (d) What is meant by wattless current ?
stopping potential (V) is 1
X (¢) Define potential gradient.
(i) h NIt Defi . _
e (f) Define current sensitivity of a moving coil
(i) & v galvanometer.
i) vy —
1) h (tv) N .
\
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\ -\'hwwiml for the output
Hll s v

qs-H Juce the !;lm]u_; B e 2
SECTION-C CL :3:;:{||1';‘]ﬁ\‘“”“"1:'-"' logic gale.
e ] W L - o | v
3. () ek Srhia e s rifrmyey o sTAE A -{r'_f"- a A
) % et etrar P Evar & ¢ gH e g s - ¥ OR
st 1 et 2 Draw symbol diaeram and truth table of NOR
. . i P AriC| £ FA F raw s ~
(") aoreed & 5% 10 7 Hiex gate.
T 3 dvee | wra e | 2
() qﬁfwwqﬁmwwﬁaﬂqmwm B
4, 7 firos 3y e 1 oI A2 SECTION-D
St / Afer N &Y A
() at‘ﬁﬁﬁ:é?ﬁ?‘hﬁ}??%’l = = N {m)ﬁﬁﬁﬁzﬁﬂm 7 a:gra?_r v
. ] 2 & < : 3 | gk # 1@ g A
e 31 AT | = = 10 TR @ 2 S A
AH—"—‘:DG : z 2 3 25 it 1 2t e @ g 3 wfafera 1 feea
B J k f f’ maﬁrﬁq|§1ﬂﬁ7\q5ﬁ9¥%mm? 3
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! ] ] -
e | N 3 5 1 e WTe it | 3
ANOR Y 51 eiten R e weran Jiell S | : 3 =sTe . _—
e : = e T 16 T feafdea gere Jrad
3. (a) What is the phase difference between current 5 =] () gﬁ - ' \
and voltage in a purely inductive alternating o o i ;
~circuit ? Write do%g the formula of inductive = 3 (i) 3l aed g
reactance ofithis circuit. 2 i) - -
' Find the energy of a photon in eV having
g {b) wavelength lf 5% 107 m 2 (E} @ B ? gfg% THEAH AR FEh &
| . ' 4.5 2@en % v @ av1 98 9w 6 e 89 &
"?@ :;;;g;; zivf:or;? e:?n:l Tenaiﬁg u?f: HIY 30° % 10T T R | A 39 90 4.5 % 1072
| refractive index of i rial of ;he prism. 2 = x . W-W A 2, @ 38 Ik
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heren st AL

The powet of a conves fens and c:nf1_c;vlle; lx:“
are 10 dioptre and 2 dioptre L'w.»;pcn_llu Y. .tl |
object 18 placed at 25 W lu:_m.1 1u‘
combination of lenses in contact. _Inu the
position of image ol object. What will be the
nature of the combined lens 7

Obtain the formula for the fringe width with
the help of Young's double slit experiment.
a 16 gm radioactive

3

The average life of
substance is one day. Calculate :

(i) Tts half life time

3

o) Its undecayed amount after 3.5 days.

(d

(€

346 (XS)

its axis is 30° angle from

A small bar magnet is placed in an uniformly

external magnetic field of 4.5 Tesla such that
the direction of the

field. 1f-a .torque of " 4.5 x 1072 Newton x
metre acts on it, then find the potential energy
of the bat magnet.

A'unifonﬁ!y'éhaiéed straight wire of infinite

3

- length ‘has fingar charge density of 10 x 108

coulomb/metre.. Calculate the electric field
intensity-at a perpendicular d'Tstance of 2 cm

from the wire.
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5. (a)

(b

(c)

(d)

(e)
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With the help of Kirchhet? s lows e
an electrical circuit. obtain the wondit

i)
L
balanced state for Wheatstone bridec O <

- o e : - ‘H]r
P. Q. R and § are the resistances of the It

i 3
sides.
What is electrical resonance 7 Obtain an
expression for the resonance frequency with
the help of series resonance circuit. 3
Derive the formula for the capacitance ot a
paralle] plate capacitor partially filled with a
dielectric medium. 3
What are the paramagnetic, diamagnetic and
ferromagnetic substances ? Justify  your

3

answcr.

Draw a ray diagram of a refracting telescope
when final image is formed at the least
distance of the distinct vision. Write the
formula of its magnifying power for this

position. http://www.upboardonline.com
OR

A compound microscope has an objective

lens of focal length 2.0 cm and an eyepiece

lens of focal length 6.25 cm separated by a
distance of 15 cm. How far from the objective
should an object be placed in order to obtain
the final image at the least distance of distinct
vision (25 ¢m) ? What is the magnifying
power of the microscope ?
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What is meant by the polarisation of light 7 Two
polaroids A and B are placed crossed with each
other. How a third polaroid is to be placed in
between them such that the light transmitted from

1 . .
B have intensity 35 that of the intensitv of

unpolarised light incident on A 7
OR
What is Huygen’s theory of secondary waveles

A monochromatic Iwht of wavelength bL‘IﬂU A s
incident on the surface of a glass having refractive

index 1.5 from air. Find wavelength and speed for

each of following :
(i)  The refracting light
(1) The reflectin g light

12 (Y=1)
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ErEra Y B O e AR & =T 3 0.5 A

) frsan 6 i H 2.2 x 106 1, /R, F T & T
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'f. -

State the laws of photoelectric effect. The light of
intensity I and frequency v is incident on a metal
surface of- work function W. How will the
photoelectric . current and the maximum kinetic

energy of the _phothectmns change when 5
(1) Intensity of the incident light is same but
frequencies are diflerent,
(i1) Frequency of the ineident light is same but
intensities are different.
OR

(Y-1)
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What is Ampere’s circuital law ? Explain Ampere -
Maxwell modified law and explain displacement

current with its help.

OR
Deduce an expression for the force acting between
two current carrying parallel straight conductors
and hence define 1 ampere of current with jts help.
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| : Tpﬂt;: l ° lMT-i w A = Lo - 10 1 il
c15 5 RTOOTT a1 Jeedrd kit |
B N 9w 107 - 4ed MYerd fegueting
Ak dne
12 ¥ forea-wrahiy g fordii 1 3reArd I .
- A o H‘ ]
Wﬁm - T A yw e 3 10 fin
5

thbﬁcéﬁﬁ:?ﬁTWﬁﬁWJ |

et w98 M1
() &, badT ¢ % AT TG i | o Phvalcal constunts

e - a — ~ = [}, HE+ A, .
Gy AR a=03,b =067 ¢ )% 7 7 T Charge on electron = 1.6~ 10 1 coulomb
t = 2 e W Gfed fagd =mesh 9

i |

Ly
T .

O =

—l—- 9x 10 Nm?/(C?
;45% .

‘Speed ofl:ghtc 3% 108 m/s
Acceleration duc fo gravity g = 9.8 m/s?.

9. What is the principle of transformer ? Mention the
difference between step-up and  step-down
transformers. Mention the causes of energy losses
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in transformers. 5 R
: OR

State Faraday’s laws o ' electromagnetic induction.

The flux of magnetiq field changes with time

according to the equatidn ¢ = at®> + bt + ¢ weber. 5

(@ Find the unit of a, b , de hitp://www.upboardonline.com

(i) fa=03 b= and ¢ = 0.8 unit, then Whatsapp @ 9300930012
calculate 1nducec1 elt.ctmmagnmc force at Send your old paper & get 10/-
t=2sec. - oS O fer 3 10 e O,
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